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[crass ) D

COMMON QUARTERLY EXAMINATION- 2024 25

Time Allowed : 3.00 Hours] MATHEMATICS [Max. Marks :
PART -1 _
I  Choose the correct Answer. 14x1=14
1. ThesetP = {x|xeZ, -1<x<1}is a
a) Singleton set by Power set c) Nullset d) Subset
2.  Which of the following is correct?
a) ¢ c{ab) b ¢ € {ab) o) f{a) € {a.b} d acfab)
3. If B-Ais B, then AnB is
a) A by’ B c) U d ¢
4. For any three sets A, B and C, (A-B) n (B-C)
a) Aonly b) B only c) Conly d ¢

5.  InaCity, 40% of people like only one fruit, 35% people like only two fruits, 20% people like all the three
fruits. How many percentage of people do not like any one of the above three fruits?

a) S b) 8 c) 10 d 15
6.  Which one of the following is an irrational number?
¥ _ 9 7 .
a) 25 b) 'J p c) y d =«
7. 1f1/7=0.142857 then the value of S/7 is |
a) _ 0.142857 b) 0.714285 c) 0.571428 'd) 0.714285
8.  1f80 = kv5, then k = |
a) 2 b) 4 c) 8 \ d) 16
9. When (2*!5 N2)2is simplified, we get . . .
a) 445 +2V2 b) 22-4¥10 c) 8-4Y10 d 2V10-2
10.. The Iength and breadth of a rectangle plotare 5 x 10° and 4 x 10* metres respectively. Its area is -—----
. a) 9x10'm? b)) 9x10°m? c) 2x10"°m? d) 20x102°m?
11. The zero of the polynomial 2x+5 is - :
5 ' ' 5 2 -2
a)_2 i b) ~ | - C).5 , ‘d) c
12. Degree ofthe polynomial (y* - 2) (y* + 1) i§ ——--ceeceeeeee .
a 9 ' by 2 | c) 3 - d) 6
13.. 'If x-3 is a factor of p(x), then the remainderis . RS
a): 87, i b) 3 N c)  p@) d) p(-3)
14. Cubic polynomial may have maximum of - linear factors.
ay 1. . by 2. | c) 3 - d) 4
e mg PART - Il - -
Answer any 10 questions. Question No. 28 is compulsory. : '10x2=20

}5’/ Find the number of subsets and the number of proper subsets of aset X ={a, b, ¢, x, y, z}.
'16.  Write down the power set of the setA= {a,b}.
47." Find the symmetric difference between the sets P ={2, 3, 5,7, 11}and Q = {1, 3, 5, 11}
4877 If n(A) =300, n(AwB) = 500, n(ANB) = 50 and n(B) = 350, find n(B) and n(w)
}9/ Find any three rational numbers between ~— and -2 . »
SN i = 1 11 | |  CH/9/Mat/I

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

20.
21.
222

www.Padasalai.Net www.Trb Tnpsc.Com

Express the decimal expression 2.327 into rational number.
Find any three irrational numbers between 0,12 and 0.13.
The mass of the Earth is 5.97 x 102 kg, and that of the Moon is 0.073 x 10“ kg. What is thelr total

'~ mass?

1 23.
24.
25.

_26.
o7

Rewrite the polynomial yZ+ 5y3 - 11 - 713 y + 9y*into standard form.
What is the remainder when x2°'® + 2018 is dIVISIble by x-1

Expand (a-b+c)? ‘

Find the GCD of a™1, a2, gm+3

Factorise (a+b)2 + 9(a+b) + 18.

287 Theangles of a triangle are in the ratlo 1:2:3. Find the measure of each angle of the triangle.

29.

‘.«{

31.

: PART - Il
Answer the following any 10 questions.Q.No.42 is compulsory. | 10x5=50
IfA={p,q,r,s},B={m,n, q, s, t} andC = {m n, p, q, s}, then verify the associative property of union
of sets. -
VenfyAn(BuC) = (AnB) u (AnC) using Venn diagrams
Ifu={4,7,8,10, 11, 12, 15 16}, A= {7 8, 11, 12}and B ={4, 8, 12, 15} then venfy De- Morgan s Laws
of complementation.
In a college, 240 students play cricket, 180 students play football, 164 students play hockey ,42 play
both cricket and football, 38 play both football and hockey,40 play both cricket and hockey and 16 play

. -all the three games . If each student participate in atleast one game , then find . R R \E

(). the number of students in the college (i) the number of students who play only one game. ’?

_ 233" Represent 6.4 upto 3 decimal places on the number line.

,34/ Arrange in surds in descending orders. W5, g, E\E

35.

267
- 37.

. .40.

41.

43.

44.

Frndthevalueofaandb if ¥7-2 =al7+b. | -
7+2 | _ .

Simplify: 2 30 + 3 ‘\(625 4 3320
The costof a chocolate iISRs (x + y) and Amir bought (x + y) chocolates Find the total amount paid by
him in terms of x and y If x=10, y = 5 find the amount paid by him: '
If both (x-2) and (x-%%) are the factors of ax*5x+Db, then show that a=b.
If (x+a) (x+b) (x+c) = x>+14x%459x+70, then find the value.of -

1 1 1

i) a+b+c ) =t —+ =
' a b ¢

i) a?+b?+c?

’Factonse x3 - 3x2- 10x + 24,

lfthe quotient obtained on dividing (8x4- 2x2 +6x-7) by (2x + 1) is (4x3+ pxz qx + - 3), then find p, q and

‘alsothe remainder.

fA={-201,3, 5} B={-1,0,2,5,6) andC {-1,2, 5,6, 7}, then show thatA—(BuC) =(A-B)N(A-C).
PART - IV | ,

Answer all the questions. ‘ : ' o ' 2x8=16
a) Draw the AABC, where AB = 6 cm AB = 110° and BC=9cm and construct its Centroid.
| (OR) | -
b) Draw an equilateral triangle of srdes 6.5 cm and Iocate its Orthocentre
a) Drawthe graph ofy= 3x - 1. ‘
. (OR) _
b) Draw the graphofy = 2x.
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